See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

I, Media Plus hereby request station time as follows:

IDENTIFY CANDIDATE TYPE	DERAL CANDIDATE
IDENTIFY CANDIDATE TYPE	TE OR LOCAL CANDIDATE
ALL QUESTIONS/BLOC	KS MUST BE COMPLETED
Candidate name:	
Win Comparter	
Authorized committee:	
CARpenter 4 BOS.	D=63
Agency requesting time (and contact information):	
Agency requesting time (and contact information):	C. Zuscas
Candidate's political party:	
Kepublien	
Office sought (no acronyms or albbreviations):	
Date of election: 3-10-14 3-15-24 Date of election:	of Superus son Dist 3
Date of election:	General 57 n.
200	Concrat
Treasurer of candidate's authorized committee:	
hynda Kent	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fu	mished by (check one box below):
the candidate listed above who is a legally qualified ca	ndidate, or
the authorized committee of the legally qualified cand	date listed above:
(2) this station is authorized to announce the time as paid for h	N such market or anither and
(3) this station has disclosed its political advertising policies in	Cluding applicable classes and vetes alternation
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF BACE OR THE
IN THE PLACEMENT OF ADVERTISING.	THE LASIS OF RACE OR ETHNICLITY
Candidate/Caracita /A	
Candidate/Committee/Agency	Station Representative
Signature:	Signature: Muley
	V
Name: Charis Euro	Name: Mark Fitzmayer
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: 1/18/2024
	27

for a duration of at least four second the candidate approved the broadca	at the broadcast matter to be aired p es, (2) contains a clearly identifiable p is and a simultaneously displayed prints ast and that the candidate and/or the	oursuant to this disclosure either (1) does not refer ohotograph or similar image of the candidate nted statement identifying the candidate, that e candidate's authorized committee paid for the by the candidate that identifies the candidate, ast.
Candidate/Authorized Committe	ee/Agency	
Signature:		
Name:		The business of the Court and the Court of t
Date:		
	TO BE COMPLETED BY STAT	TION ONLY
Ad submitted to Station?		received: 2/22/2024
Note: Must have separate PB-19 F		(i.e., for every ad with differing copy).
Federal candidate certification signed	THE RESIDENCE OF THE SPECIAL PROPERTY OF THE SPECIAL P	No N/A
	opy not yet received to determine sp	
Date and nature of follow-ups, if any (e		
2007 42_	Station Call Letters:	Date Received/Requested:
est. #: W/A	Station Location:	Run Start and End Dates: 2/2024
ourchased or attach separately. If static	on will not upload the actual times are	cuments reflecting this transaction to the OPIF or lly aired, the rates charged and the classes of time pots aired until an invoice is generated, the name pe placed in the "Terms and Disclosures" folder in

MEDIA PLUS

PO BOX 494460

REDDING, CA 96049-4460



Advertiser:

WIN CARPENTER

Order #:

2723009582523

Contract #: Date Entered:

200742 01/18/2024

Last Modified:

01/18/2024

Product:

Salesperson:

House Redding House

Billing Cycle:

Calendar Month

Estimate #:

Order Date Range: 02/01/2024 through 02/29/2024 (5 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-A	ir Schedule														
#	Dates	Station	Time/Program	Len	Мо	Test	Ma	Th	pa	-	-				
1	02/01/24-02/02/24	KQMS-AM	07:00AM-07:00PM	60	140	I U	vve	-	Fr	Sa	Su	S/W	Rate	Oty	Total
2	02/05/24-02/09/24	KOMS-AM	07:00AM-07:00PM					8	8			16	25.00	16	400.00
3	02/12/24-02/16/24	KOMS-AM	07:00AM-07:00PM	60	8	8	8	8	8			40	25.00	40	1,000.00
4	02/19/24-02/23/24	KOME AM		60	8	8	8	8	8		**	40	25.00	40	1,000.00
5	02/26/24-02/29/24	KOME AM	07:00AM-07:00PM	60	6	6	6	6	6			30	25.00	30	750.00
6	02/01/24-02/02/24	KONS-AM	07:00AM-07:00PM	60	8	8	8	8	-			32	25.00	32	
7	02/01/24-02/02/24	KRDG-FM	07:00AM-07:00PM	30				6	6			12	10.00	12	800.00
8	02/05/24-02/09/24	KRDG-FM	07:00AM-07:00PM	30	8	8	8	8	8			40	10.00		120.00
	02/12/24-02/16/24	KRDG-FM	07:00AM-07:00PM	30	8	8	8	8	8	0.0000		40		40	400.00
9	02/19/24-02/23/24	KRDG-FM	07:00AM-07:00PM	30	5	5	5	5	5	3237		100000	10.00	40	400.00
10	02/20/24 02/23/24	KRDG-FM	07:00AM-07:00PM	30	6	6	6		2		77	25	10.00	25	250.00
11	02/01/24-02/02/24	KSHA-FM	07:00AM-07:00PM	30	1		_	6				24	10.00	24	240.00
12		KSHA-FM	07:00AM-07:00PM	30				8	8			16	15.00	16	240.00
13		KSHA-FM	07:00AM-07:00PM	100000	8	8	8	8	8			40	15.00	40	600.00
14		KSHA EM		30	8	8	8	8	8			40	15.00	40	600.00
15		KSHA-FM	07:00AM-07:00PM	30	6	6	6	6	6			30	15.00	30	450.00
	02/29/24	N3HA-FM	07:00AM-07:00PM	30	6	6	6	6				24	15.00	24	360.00
Charle												11000	00	- T	300.00

Station Totals

Station	On-Air CountDigita	Count	Web Count Othe	on Count			
KQMS-AM	158	0	Web Count Othe	er Count	Gross BillingCo	ommission	Net Billing
KRDG-FM		0	0	0	\$3,950.00	\$592.50	\$3,357.50
	141	0	0	0	\$1,410.00		
KSHA-FM	150	0	0	0		\$211.50	\$1,198.50
Totals	449			U	\$2,250.00	\$337.50	\$1,912.50
	449	U	0	0	\$7,610.00\$	1,141.50	\$6,468.50

Total Charges: Agency Commission:

\$7,610.00 \$1,141.50

Total Net:

\$6,468.50

DUE UPON RECEIPT

_		Projected Bi	lling By Calendar Month Month	
F	<u>fonth</u> ebruary otals	Year 2024	Gross Billing \$7,610.00 \$7,610.00	Net Billing \$6,468.50 \$6,468.50

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



FEBRUARY '24

KOMS

						IGNS
SUN	MON	TUES	WED	THURS	FRI	SAT
				1	2	3
Mark West - Market Stranger Control State Control Stranger				8'>	S×	
4	5	6	7	8 :	9	10
	8-			:		
11	12	13	14	15	16	17
	8 ×					
18	19	20	21	22	23	24
:	6~				->	
25	26	27	28	29		
	⊙×					

CLIENT:	WIN CARPENTER		The con-
A 1X	INSTRUCTIONS	- LENGTH:	:60
B 1X	6 a.m 7 p.m.	FREQUENCY:	25.00
C 1X	bookend and rotate	RATE: TOTAL:	\$ 3950
D1X	WIN - 1 - 24 R / WIN - 2 - 24 	R CO-OP:	MA SON
E1XF1X		11 00 011	

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

Media Plus

1. Media Plus	hereby request station time as follows:
IDENTIFY CANDIDATE TYPE STA	DERAL CANDIDATE
Annarius qual	
ALL QUESTIONS/BLOC	KS MUST BE COMPLETED
Candidate name: Win Chapanter	
Authorized committee:	
CARpenter 4 BOS.	D. 3 / 3
Agency requesting time (and contact information):	
Agency requesting time (and contact information):	C. Lucas
political party.	
Comments Republician	
Office sought (no acronyms or abbreviations):	
Sinota County Board	of Superuison Dist3
Date of election: 3-6-24	General Primary
Treasurer of candidate's authorized committee:	
Lynda Kent	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fu	existend by the at
the candidate listed above who is a legally qualified ca	mished by (check one box below);
the authorized committee of the legally qualified cand	idate listed shows
(2) this station is authorized to annual the station is a station in the station is a station in the station is a station in the station in the station is a station in the station in the station is a station in the station in the station is a station in the station in the station in the station is a station in the station in	Cate listed above;
(2) this station is authorized to announce the time as paid for b (3) this station has disclosed its political activities political in	y such person or entity; and
(3) this station has disclosed its political advertising policies, in and other sales practices.	cluding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
THE PARTIES OF ADVERTISING.	
Candidate/Committee/Agency	Station Representative
Signature:	Signature: 4/15
Name: Chara Zara-	Name: MANK Fitzmager
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: ///8/2024

P. J. J. C. Indian		
tor a duration of at least four secon the candidate approved the broad broadcast or if radio programming	that the broadcast matter to be aired purs loes, (2) contains a clearly identifiable pho nds and a simultaneously displayed printe	suant to this disclosure either (1) does not refer otograph or similar image of the candidate ed statement identifying the candidate, that andidate's authorized committee paid for the the candidate that identifies the candidate,
Candidate/Authorized Commi	ttee/Agency	
Signature:		
Name:		
Date:	The state of the second of additional and the state of th	
	TO BE COMPLETED BY STATIC	ON ONLY
Ad submitted to Station?		ceived: 2/22/2024
Note: Must have separate PB-19	Forms for each version of the ad (i.e	
Federal candidate certification signe	ed (above): Yes	No N/A
Disposition: Accepted 80484 Accepted IN PART (e.g., ad Rejected – provide reason:	WINCAPPLATER For copy not yet received to determine spor	or District 32024 nsor ID)*
*Upload partially accepted form, the	en promptly upload updated final form w	hen complete.
Date and nature of follow-ups, if any	(e.g., insufficient sponsor ID tag):	The second secon
Contract #: 2007 42_	Station Call Letters: KRO6-FM	Date Received/Requested:
Est. #: W/A.	Station Location:	Run Start and End Dates:
purchased or attach separately. If stat	tion will not unless the second of	ments reflecting this transaction to the OPIF or aired, the rates charged and the classes of time is aired until an invoice is generated, the name placed in the "Terms and Disclosures" folder in

MEDIA PLUS

PO BOX 494460

REDDING, CA 96049-4460



Advertiser:

WIN CARPENTER

Order #: Contract #:

2723009582523 200742

Date Entered:

01/18/2024

Last Modified: Product:

01/18/2024

Salesperson:

House Redding House

Billing Cycle:

Calendar Month

Estimate #:

Order Date Range: 02/01/2024 through 02/29/2024 (5 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

#	Dates Station	Time/Program	Len	Мо	Tu	Ne	Th	Fr	Sa	Su	S/W	Rate	Qtv	Total
1	02/01/24-02/02/24 KQMS-AM	07:00AM-07:00PM	60				8	8			16	25.00	16	Total
2	02/05/24-02/09/24 KQMS-AM	07:00AM-07:00PM	60	8	8	8	8	8			40		2000000	400.00
3	02/12/24-02/16/24 KQMS-AM	07:00AM-07:00PM	60	8	8	8	8	0	320		(5) (3) (3)	25.00	40	1,000.00
4	02/19/24-02/23/24 KQMS-AM	07:00AM-07:00PM	60	6		1370		0			40	25.00	40	1,000.00
5	02/26/24-02/29/24 KQMS-AM	07:00AM-07:00PM		_	6	6	6	6			30	25.00	30	750.00
6	02/01/24-02/02/24 KRDG-FM		60	8	8	8	8				32	25.00	32	800.00
7	02/05/24-02/09/24 KRDG-FM	07:00AM-07:00PM	30				6	6			12	10.00	12	120.00
8		07:00AM-07:00PM	30	8	8	8	8	8		-	40	10.00	40	400.00
33	02/12/24-02/16/24 KRDG-FM	07:00AM-07:00PM	30	8	8	8	8	8			40	10.00	40	400.00
9	02/19/24-02/23/24 KRDG-FM	07:00AM-07:00PM	30	5	5	5	5	5			25	10.00	25	
10	02/26/24-02/29/24 KRDG-FM	07:00AM-07:00PM	30	6	6	6	6	-					700000	250.00
11	02/01/24-02/02/24 KSHA-FM	07:00AM-07:00PM	30		0	o	0				24	10.00	24	240.00
	02/05/24-02/09/24 KSHA-FM	07:00AM-07:00PM					8	8	0.00		16	15.00	16	240.00
	02/12/24-02/16/24 KSHA-FM		30	8	8	8	8	8			40	15.00	40	600.00
		07:00AM-07:00PM	30	8	8	8	8	8			40	15.00	40	600.00
14	02/19/24-02/23/24 KSHA-FM	07:00AM-07:00PM	30	6	6	6	6	6			30	15.00	30	450.00
15	02/26/24-02/29/24 KSHA-FM	07:00AM-07:00PM	30	6	6	6	6				24	15.00	24	360.00

Station Totals

Station	On-Air CountDigital	Count	Web Count Othe	er Count	Gross BillingC	ommission	Net Dillion
KQMS-AM	158	0	0	0	\$3,950.00	\$592.50	Net Billing
KRDG-FM	141	0	0	ő	\$1,410.00	\$211.50	\$3,357.50
KSHA-FM	150	0	0	0	\$2,250.00	\$337.50	\$1,198.50
Totals	449	0	0		The state of the s	The state of the s	\$1,912.50
				U	\$7,610.00\$	1,141.50	\$6,468.50

Total Charges:

\$7,610.00

Agency Commission:

\$1,141.50

Total Net:

\$6,468.50

DUE UPON RECEIPT

Projected Billing By Calendar Month Month

Month	Year	Gross Billing	Net Billing
February	2024	\$7,610.00	\$6,468.50
Totals		\$7,610.00	\$6,468.50

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



F1X____

KRDG

SUN	MON	TUES	WED	THURS	FRI	SAT
				1	2	3
				64	6-	
4	. 5	6	7	8	9	10
	8,	:			-> >	
11	12	13	14	15	16	17
	8~					
18	19	20	21	22	23	24
	5%				***************************************	
25	26	27	28	29		
	de la constitución de la constit					

CLIENT:	WIN CARPENTER	LENGTH:	:30
A 1X	INSTRUCTIONS	FREQUENCY:	141
B 1X	6 a.m 7 p.m.	RATE: _	10.00
C 1X	rotate WIN - 1 - 24 R	TOTAL:	\$1410
D1X	WIN - 2 - 24 R	CO-OP:	
E 1X	WIN - 3 - 24 R		11 to 10 to

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

1. Media

Media Plus	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE STATE	
ALL QUESTIONS/BLOCK	KS MUST BE COMPLETED
Candidate name: Win Carpenter	
Authorized committee: Crepenter 4 803	D. 76 3
Agency requesting time (and contact information):	
Agency requesting time (and contact information):	C. Zuacas
Candidate's political party:	
Kepubliena	
Office sought (no acronyms or abbreviations):	
Date of election:	or Superior son Mists
3-6-24	General Primary
Treasurer of candidate's authorized committee:	
Lynda Kent	_
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fur	mished by (check one box helow)
the candidate listed above who is a legally qualified ca	ndidate, or
the authorized committee of the legally qualified candi	date listed above;
(2) this station is authorized to announce the time as paid for b	
(3) this station has disclosed its political advertising policies, inc	cluding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
	·
Candidate/Committee/Agency	Station Representative
Signature:	Signature:
Name: Charis Zanin	Name: Mark Fitzmayer
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: 1/18/2024

Federal Candidate Certification:		
The undersigned hereby certifies that to an opposing candidate or, if it does, for a duration of at least four seconds at the candidate approved the broadcast.	and a simultaneously displayed printed and that the candidate and/or the ca	uant to this disclosure either (1) does not refer tograph or similar image of the candidate distatement identifying the candidate, that indidate's authorized committee paid for the the candidate that identifies the candidate,
Candidate/Authorized Committee		
Signature:		
Name:		
The ball of the second	and also a galar element such that it are the content of the con	Management of the same and the
Date:		
,	O BE COMPLETED BY STATIO	
Ad submitted to Station?		ived: 2/22/2024
Note: Must have separate PB-19 For	ms for each version of the ad (i.e.	, for every ad with differing copy).
Federal candidate certification signed (a	bove): Yes	No N/A
Disposition: Accepted SDAST Accepted IN PART (e.g., ad copy Rejected – provide reason:	who carpental for a not yet received to determine spons	Dirthirt 22024
*Upload partially accepted form, then pro-	omptly upload updated final form wh	en complete.
Date and nature of follow-ups, if any (e.g.	., insufficient sponsor ID tag):	
Contract #: 2007 42_	Station Call Letters:	Date Received/Requested:
Est. #: W/iq.	Station Location:	Run Start and End Dates:
purchased or attach separately If station	will not unload the actually at	ents reflecting this transaction to the OPIF or red, the rates charged and the classes of time aired until an invoice is generated, the name faced in the "Terms and Disclosures" folder in

MEDIA PLUS

PO BOX 494460

REDDING, CA 96049-4460



Advertiser: Order #:

WIN CARPENTER

Contract #:

2723009582523 200742

Date Entered:

01/18/2024

Last Modified:

01/18/2024

Product:

Salesperson:

House Redding House

Billing Cycle:

Calendar Month

Estimate #:

Order Date Range: 02/01/2024 through 02/29/2024 (5 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

#	<u>Dates</u> <u>Station</u>	Time/Program	Len	Мо	Tu	We	Th	Fr	Sa	Su	S/W	Rate	Qty	Total
1	02/01/24-02/02/24 KQMS-AM	07:00AM-07:00PM	60				- 8	8			16	25.00	16	
2	02/05/24-02/09/24 KQMS-AM	07:00AM-07:00PM	60	8	8	8	8	8	100000		40	25.00	200	400.00
3	02/12/24-02/16/24 KQMS-AM	07:00AM-07:00PM	60	8	8	8	- 5	_	-		0.000		40	1,000.00
4	02/19/24-02/23/24 KQMS-AM	07:00AM-07:00PM	975000	250	130		8	8			40	25.00	40	1,000.00
5	02/26/24-02/29/24 KOMS-AM		60	6	6	6	6	6			30	25.00	30	750.00
6		07:00AM-07:00PM	60	8	8	8	8				32	25.00	32	800.00
0	02/01/24-02/02/24 KRDG-FM	07:00AM-07:00PM	30	77			6	6			12	10.00	12	120.00
1	02/05/24-02/09/24 KRDG-FM	07:00AM-07:00PM	30	8	8	8	8	8			40	10.00	40	400.00
8	02/12/24-02/16/24 KRDG-FM	07:00AM-07:00PM	30	8	8	8	8	8			40	10.00	1000	
9	02/19/24-02/23/24 KRDG-FM	07:00AM-07:00PM	30	5	5	5	5	5			1		40	400.00
10	02/26/24-02/29/24 KRDG-FM			-	- 20	-	10.7	5			25	10.00	25	250.00
11		07:00AM-07:00PM	30	6	6	6	6				24	10.00	24	240.00
		07:00AM-07:00PM	30				8	8			16	15.00	16	240.00
12	02/05/24-02/09/24 KSHA-FM	07:00AM-07:00PM	30	8	8	8	8	8			40	15.00	40	600.00
13	02/12/24-02/16/24 KSHA-FM	07:00AM-07:00PM	30	8	8	8	8	8			40		100	
14	02/19/24-02/23/24 KSHA-FM	07:00AM-07:00PM	30	6	- 3	-						15.00	40	600.00
15	02/26/24-02/29/24 KSHA-FM			-	6	6	6	6			30	15.00	30	450.00
13	02/20/24-02/29/24 KSHA-FM	07:00AM-07:00PM	30	6	6	6	6				24	15.00	24	360.00

Station Totals

Station	On-Air CountDigital Count	Web Count Othe	r Count	Gross BillingCo	mmission	Net Billing
KQMS-AM	158 0	0	0	\$3,950.00	\$592.50	\$3,357.50
KRDG-FM	141 0	0	0	\$1,410.00	\$211.50	\$1,198.50
KSHA-FM	150 0	0	0	\$2,250.00	\$337.50	\$1,912.50
Totals	449 0	0	0	\$7,610.00 \$1	.141.50	\$6,468,50

Total Charges:

\$7,610.00

Agency Commission:

\$1,141.50

Total Net:

\$6,468.50

DUE UPON RECEIPT

Projected Billing By Calendar Month Month

Month	Year	Gross Billing	Net Billing
February	2024	\$7,610.00	\$6,468,50
Totals		\$7,610.00	\$6,468.50

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



THE REPORT AND			_
166.65	21	нь.	Æ
	50 E		740

SUN	MON	TUES	WED	THURS	FRI	SAT
				1	2	3
				8,	3,	
4	5	6	7	8	9	10
	8,	ه د د د د د د د د د د د د د د د د د د د	the against a significant physical physical process and the significant physical phy	and a comment of the angle of the second		
11	12	13	14	15	16	17
	34	gamen of a state	, a top 10 a fpt - 11 a spakenphase a satushing	anno ne ne en		
18	19	20	21	22	23	24
	1. 1 4. 1		abus melakan merupak kalabus kalabus ang ang 1904	and a second of the second	Service of the Management of the Service of the Ser	
25	26	27	28	29		
	2,4					

CLIENT:	WIN CARPENTER	LENGTH:	:30
A 1X	INSTRUCTIONS	FREQUENCY:	150x
B 1X	6 a.m 7 p.m.	RATE:	15.00
C 1X	rotate	TOTAL:	\$ 2250
D 1X	WIN - 1 - 24 R WIN - 2 - 24 R	CO-OP:	32 34 380 380
E 1X	WIN - 3 - 24 R		

CANDIDATE ADVERTISEMENT AGREEMENT FORM See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

hereby request station time as follows:

	EDERAL CANDIDATE	
	FATE OR LOCAL CANDIDATE	
Commence of the commence of th	CKS MUST BE COMPLETED	
Candidate name: Win Consenter	CK2 MO21 BE COMPLETED	
Authorized committee:		
Agency requesting time (and contact information):	Dist 3	
N/A N/A // S	C. Zuacas	
Candidate's political party:	y.	
Office sought (no acronyms or abbreviations):		
Strasta County Bonno	of Supercus son Dish 3	
Date of election: 3-5-24	Of Superior Son Dist 3	
Treasurer of candidate's authorized committee:		
Lynda Lout		
The undersigned represents that:		
(1) the payment for the broadcast time requested has been f	umished by (check one by helput	
and control and a legally qualified c	andidate or	
the authorized committee of the legally qualified cand	didate listed above:	
(2) this station is authorized to announce the time as paid for	and anote,	
(3) this station has disclosed its political advertising policies, in and other sales practices.	by such person or entity; and	
and other sales practices.	ictualing applicable classes and rates, discount, promotion	
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.		
Candidate/Committee/Agency	Station Representative	
Signature:	Signature: Move of	
Name: Chars Carren	Name: Migula Fitzmager	
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: 1/18/2024	
	. 1.0.2024	

Federal Candidate Certification:		
Ine undersigned hereby cortifies the	entering to a	
to an opposing candidate or, if it does	the broadcast matter to be aired purs	suant to this disclosure either (1) does not refer
for a duration of at least four seconds	and a simultaneously distal	tograph or similar image of the candidate
the candidate approved the broadcas	st and that the candidate and/	d statement identifying the candidate, that
broadcast or if radio programming, co	ontains a personal audio statement by	indidate's authorized committee paid for the the candidate that identifies the candidate,
the office being sought and that the c	candidate has approved the broadcast.	the candidate that identifies the candidate,
Candidate/Authorized Committe		
Signature:	:e/Agency	
oignature.		
Name:		
Name:	TALLE SO AN ENGLOSS OF THE REAL OF THE SECOND STATE OF THE SECOND SECOND SECOND SECOND SECOND SECOND SECOND SE	
Date:		THE PARTY OF THE P
	TO BE COMPLETED BY STATIC	ON ONLY
All I was a second		
		eived: 2/22/2024
Note: Must have separate PB-19 Fo	orms for each version of the ad (i.e	., for every ad with differing copy).
Federal candidate certification signed	(above): Yes	No N/A
Disposition:	332 (C. Datay) - 900 (May a grant manager) - print house, and a second s	and the same of th
Accepted 8048+14)	ih carpenter for	MICHELY 2004
A	in Chiparico i	0070000
Accepted IN PAKT (e.g., ad co	ppy not yet received to determine spon	sor ID)*
Rejected – provide reason:		-
The second secon	And the second s	
*Upload partially accepted form, then	promptly upload updated final form wi	hen complete.
Date and nature of follow-ups, if any (e	G insufficient constant D to)	The state of the s
e and material of follow-ups, if any (e	.g., insumcient sponsor ID tag):	
Contract #:	Station Call Letters:	Data Passivad/Passuarted
200743	Station Call Letters:	Date Received/Requested:
Contract #: 213743 Est. #: NA	Station Call Letters: Station Location:	パルタイプ o みんげ Ryn Start and End Dates:
200743 Est. #: NA	Station Location: Station Location: Conting; Conting;	//18/フゥラザ Run Start and End Dates: 3/1/2024~ 3/5/ファン
Est. #: Upload order, this form and invoice (or use this space to document schedule or	Station Location: Station Location: Traffic system print-out) or other document time purchased when spots actually	Run Start and End Dates: 3/1/2024-3/5/2024 ments reflecting this transaction to the OPIF or
Upload order, this form and invoice (or use this space to document schedule or purchased or attach separately. If statio	traffic system print-out) or other document time purchased, when spots actually a will not upload the actual times are traffic.	Run Start and End Dates: 3/1/2024-3/5/2024 ments reflecting this transaction to the OPIF or aired, the rates charged and the classes of time
Upload order, this form and invoice (or use this space to document schedule or purchased or attach separately. If statio	traffic system print-out) or other document time purchased, when spots actually a will not upload the actual times are traffic.	Run Start and End Dates: 3/1/2024-3/5/2024 ments reflecting this transaction to the OPIF or aired, the rates charged and the classes of time
Upload order, this form and invoice (or use this space to document schedule or purchased or attach separately. If statio	traffic system print-out) or other document time purchased, when spots actually a will not upload the actual times are traffic.	Run Start and End Dates: 3/1/2024-3/5/2024 ments reflecting this transaction to the OPIF or
Upload order, this form and invoice (or use this space to document schedule or purchased or attach separately. If statio	traffic system print-out) or other document time purchased, when spots actually a will not upload the actual times are traffic.	Run Start and End Dates: 3/1/2024-3/5/2024 ments reflecting this transaction to the OPIF or aired, the rates charged and the classes of time
Upload order, this form and invoice (or use this space to document schedule or purchased or attach separately. If statio	traffic system print-out) or other document time purchased, when spots actually a will not upload the actual times are traffic.	Run Start and End Dates: 3/1/2024-3/5/2024 ments reflecting this transaction to the OPIF or aired, the rates charged and the classes of time
Upload order, this form and invoice (or use this space to document schedule or purchased or attach separately. If statio	traffic system print-out) or other document time purchased, when spots actually a will not upload the actual times are traffic.	Run Start and End Dates: 3/1/2024-3/5/2024 ments reflecting this transaction to the OPIF or aired, the rates charged and the classes of time
Est. #: Upload order, this form and invoice (or use this space to document schedule or purchased or attach separately. If statio	traffic system print-out) or other document time purchased, when spots actually a will not upload the actual times are traffic.	Run Start and End Dates: 3/1/2024-3/5/2024 ments reflecting this transaction to the OPIF or aired, the rates charged and the classes of time



MEDIA PLUS PO BOX 494460

REDDING, CA 96049-4460

Advertiser:

WIN CARPENTER

Order #: Contract #:

2723009582524 200743

Date Entered: Last Modified:

01/18/2024 01/18/2024

Product: Salesperson:

Billing Cycle:

House Redding House Calendar Month

Estimate #:

Order Date Range: 03/01/2024 through 03/05/2024 (1 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

#	<u>Dates</u>	Station	Time/Program	Len	Mo	T 1	Al-	TIPE.	-	_	_				
1	03/01/24-03/01/24	KOMS-AM	06:00AM-07:00PM	CO	1410	14	we	In	Fr	Sa	Su	S/W	Rate	Oty	Total
2	03/04/24-03/05/24	KOMS-AM		บบ			-		8			8	25.00	8	200.00
3	03/01/24-03/01/24	KDDC The			10	10				-		20	25.00	20	
4	03/01/24-03/01/24	KRDG-FM	06:00AM-07:00PM	30					Q			147 S			500.00
4	03/04/24-03/05/24	KRDG-FM	06:00AM-07:00PM	30	10	10			O			8	10.00	8	80.00
5	03/01/24-03/01/24	KSHA-FM	06:00AM-07:00PM		10	10						20	10.00	20	200.00
6	03/04/24-03/05/24	KSHA EM		30	70				8			8	15.00	8	120.00
		K2LIA-LIA	06:00AM-07:00PM	30	10	10				-		20	15.00		100000000000000000000000000000000000000
tatio	n Totals											20	15.00	20	300.00

Station	On-Air CountDigital	Count	Woh Count Oil o				
KQMS-AM	28	Count	Web Count Other C	ount	Gross BillingC	ommission	Net Billing
KRDG-FM KSHA-FM Totals	28 28 28 84	0	0 0 0	0 0 0	\$700.00 \$280.00 \$420.00 \$1,400.00	\$105.00 \$42.00 \$63.00 \$210.00	\$595.00 \$238.00 \$357.00 \$1,190.00

Total Charges:

\$1,400.00 \$210.00

Agency Commission: **Total Net:**

\$1,190.00

DUE UPON RECEIPT

Dunt					
Projected	Billing	By	Calendar	Month	Month

Month	<u>Year</u>	Iling By Calendar Month Month Gross Billing	Net Billing
March	2024	\$1,400.00	And the second s
Totals			\$1,190.00
		\$1,400.00	\$1,190.00

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



MARCH '24

KQMS

SUN	MON	TUES	WED	THURS	FRI	SAT
					1	2
					31	
3	4	5	6	7	8	9
	10 %	10 .				
10	11	12	13	14	15	16
17	18	19	20	21	22	23
31	25	26	27	28	29	30

CLIENT:	WIN CARPENTER	LENGTH:	:60
A 1X	INSTRUCTIONS	FREQUENCY:	28×
B 1X	6 a.m 7 p.m.	RATE:	25.00
C 1X	bookend and rotate WIN - 1 - 24 R / WIN - 2 - 24 I	TOTAL; -	\$ 700
D 1X	-WIN - 1 - 24 R / WIN - 3 - 24 I		
E 1X			
F1X			

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

1. Media Plus	s. See invoice for actual schedule and charges.
11/2014 /2103	hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	DERAL CANDIDATE
IDENTIFY CANDIDATE TYPE STA	TE OR LOCAL CANDIDATE
ALL QUESTIONS/BLOC	CKS MUST BE COMPLETED
Candidate name	II JOHN EETED
Win Carpenter	
Authorized committee:	
Chappenhere 4 BOS.	D=43
"24" CY (GULESLIFIE) III'M IBNO CONTROL INTOVENAL	
N/A Moder Ales	C. Zuacia
Candidate's political party:	
Office souther in a south lieu and	
Hinsta Country Brand	General Sprimary
Date of election:	
3-6-24	General
Treasurer of candidate's authorized committee:	
hyrda Kent	_
The undersigned represents that:	
1) the payment for the broadcast time requested has been fu	whichael by (charle and book)
the candidate listed above who is a legally qualified ca	andidate or
the authorized committee of the legally qualified cand	idate listed share
2) this station is authorized to announce the time as paid for k	and allower,
S) this station has disclosed its political advertising policies in	Dy such person or entity; and
and other sales practices.	cidenty applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	DRAINATION ON THE CASE
N THE PLACEMENT OF ADVERTISING.	ATIMITY ON THE BASIS OF RACE OR ETHNICITY
andidate/Committee/Agency	Station Representative
ignature:	Signature: Mark 1
The state of the s	
lame: (1/2/3	Name: Marial of this state of the
	Name: Mogula Fitzmager
ate of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: 1/18/2024
	11012024

Federal Candidate Certification:										
The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.										
Candidate/Authorized Committee	e/Agency									
Signature:										
A LANGUAGE CONTRACTOR OF THE PROPERTY OF THE P	The state of the s	e na terra na terra de la companya d								
Name:	CHEST IN THE PROPERTY IS A COUNTY OF SHAPE OF A COMMENTAL OF THE PROPERTY OF THE CONTY ON THE CONTY OF THE CO	COLON AND THE RESIDENCE AND								
Date:		,								
Т	O BE COMPLETED BY STATION									
Ad submitted to Station?	es No Date ad receive	d: 2/22 /2024								
Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with differing copy).										
Federal candidate certification signed (above): Yes No N/A										
Disposition: Accepted 8048 + W l Accepted IN PART (e.g., ad cop Rejected – provide reason:	by not yet received to determine sponsor	Strict 3 2024								
*Upload partially accepted form, then p	romptly upload updated final form when	complete.								
Date and nature of follow-ups, if any (e.	g., insufficient sponsor ID tag):									
Contract #: 210743	Station Call Letters:	Date Received/Requested:								
Est. #: 10/4	Station Location:	Run Start and End Dates:								
purchased or attach separately. If station	will not unload the actual times as at a fin	is reflecting this transaction to the OPIF or it, the rates charged and the classes of time ed until an invoice is generated, the name ed in the "Terms and Disclosures" folder in								

MEDIA PLUS

PO BOX 494460

REDDING, CA 96049-4460



Advertiser:

WIN CARPENTER

Order #: Contract #:

2723009582524 200743

Date Entered:

01/18/2024

Last Modified: Product:

01/18/2024

Salesperson:

House Redding House

Billing Cycle: Estimate #:

Calendar Month

Order Date Range: 03/01/2024 through 03/05/2024 (1 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

#	Dates	Station	Time/Program	Len	Mo	Test	Ma	71.	-	_	_				
1	03/01/24-03/01/24	KOMS-AM	06:00AM-07:00PM	Len	PIU	14	Me	In	Fr	<u>Sa</u>	Su	S/W	Rate	Otv	Total
2	03/04/24-03/05/24	KOMS-AM	06:00AM-07:00PM						8			8	25.00	8	200.00
3	03/01/24-03/01/24	KRDG-FM	06:00AM-07:00PM	60	10	10						20	25.00	20	500.00
4	03/04/24-03/05/24	KRDG-FM	06:00AM-07:00PM	30					8			8	10.00	8	80.00
5	03/01/24-03/01/24	KSHA-FM	06:00AM-07:00PM	30	10	10						20	10.00	20	200.00
6	03/04/24-03/05/24	KSHA-FM	06:00AM-07:00PM	30					8	-		8	15.00	8	120.00
	n Totals		00.00AM-07:00PM	30	10	10					-	20	15.00	20	300.00

Station	On-Air CountDigita	10			AND DESCRIPTION OF THE PARTY OF		
KQMS-AM	28	Count	Web Count Other	Count	Gross Billing	ommission	Net Billing
KRDG-FM KSHA-FM Totals	28 28	0	0 0 0	0	\$700.00 \$280.00 \$420.00	\$105.00 \$42.00	\$595.00 \$238.00
iotais	84	0	0	0	\$1,400.00	\$63.00 \$210.00	\$357.00 \$1,190.00

Total Charges:

\$1,400.00

Agency Commission:

\$210.00

Total Net:

\$1,190.00

DUE UPON RECEIPT

Projected Billing By Calendar Month Month

Month Projected Billing By Calendar Month Month									
Month March	<u>Year</u> 2024	Gross Billing	Net Billing						
Totals	2024	\$1,400.00	\$1,190.00						
· otalis		\$1,400.00	\$1,190.00						

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



F1X_____

MARCH '24

KRDG

SUN	MON	TUES	WED	THURS	FRI	SAT
		ii-			1	2
					80	
3	4	5	6	7	8	9
	10 %	10%				
10	11	12	13	14	15	16
- The second of						
17	18	19	20	21	22	23
	:					
24	25	26	27	28	29	30
31						

CLIENT:	WIN CARPENTER	LENGTH:	:30
A 1X	INSTRUCTIONS	FREQUENCY: _	28.4
B 1X	6 a.m 7 p.m.	RATE: _	10.00
C 1X	rotate WIN - 1 - 24 R	TOTAL: -	\$ 280
D 1X	WIN - 2 - 24 R	CO-OP:	
E 1X	WIN - 3 - 24 R		

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

	s. See invoice for actual schedule and charges.
1-11/8414 /2102	hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	DERAL CANDIDATE
IDENTIFY CANDIDATE TYPE STA	TE OR LOCAL CANDIDATE
NAME OF THE OWNER OWNER OF THE OWNER OWNE	
	KS MUST BE COMPLETED
Candidate name:	
Win Corporter	
Authorized committee:	
Chapenhere 4 BOS.	72.36.3
Agency requesting time (and contact information):	
Agency requesting time (and contact information): N/A Candidate's political party:	C. Zuacas
Candidate's political party:	
Office course to Republican	
Office sought (no acronyms or abbreviations):	
Date of election:	of Superes son Dist 3
Date of election:	General
	International Control of the Control
Treasurer of candidate's authorized committee:	
hynda Kent	-
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fu	mished by (check one how helpwire
the candidate listed above who is a legally qualified ca	ndidate. or
the authorized committee of the legally qualified cand	idate listed above:
(2) this station is authorized to announce the time as paid for h	Wellich marken or antibo and
(3) this station has disclosed its political advertising politics in	cluding applicable classes and rates discount promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
THE PRODUCTION OF ADVERTISING.	
Candidate/Committee/Agency	Shadian Danier Life
Signature: ()	Station Representative
	Signature: Morkey
Name:	
CARO EURIA	Name: Mogula Fitzmajer
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: 1/18/2024
	1/18/2024

Federal Candidate Certification:							
The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.							
e/Agency							
3000 ASSOCIATION STATEMENT (SALES ASSOCIATION ASSOCIAT							
The state of the s							
O RE COMPLETED BY CTATIO	N ONLY						
THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER.							
rms for each version of the ad (i.e.,	, for every ad with differing copy).						
above): Yes	No N/A						
Disposition: Accepted SUSTWIN CAMPENTUR FOR DISTNICTS 2024 Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)* Rejected – provide reason:							
romptly upload updated final form wh	en complete.						
g., insufficient sponsor ID tag):							
Station Call Letters:	Date Received/Requested:						
Station Location:	Run Start and End Dates: // 2024						
ume purchased, when spots actually a	nents reflecting this transaction to the OPIF or ired, the rates charged and the classes of time aired until an invoice is generated, the name placed in the "Terms and Disclosures" folder in						
	O BE COMPLETED BY STATIO The station of the care of t						

I

MEDIA PLUS

PO BOX 494460

REDDING, CA 96049-4460



Advertiser:

WIN CARPENTER

Order #:

2723009582524 200743

Contract #: Date Entered:

01/18/2024

Last Modified:

01/18/2024

Product:

Salesperson:

House Redding House

Billing Cycle: Estimate #:

Calendar Month

Order Date Range: 03/01/2024 through 03/05/2024 (1 weeks) Media Outlets: KQMS-AM, KRDG-FM, KSHA-FM

On-Air Schedule

#	Dates	Station	Time/Program	Len	Ma	T 1	A/-	Th		-	-				
1	03/01/24-03/01/24				MO	IUI	we	<u> 1n</u>	Fr	<u>5a</u>	Su	S/W	Rate	Otv	Total
2			06:00AM-07:00PM	60					8			8	25.00	8	200.00
2	03/04/24-03/05/24		06:00AM-07:00PM	60	10	10			-			20	25.00	20	
3	03/01/24-03/01/24	KRDG-FM	06:00AM-07:00PM	30					-			20		20	500.00
1	03/04/24-03/05/24	KDDC FM							8			8	10.00	8	80.00
			06:00AM-07:00PM	30	10	10						20	10.00	20	200.00
5	03/01/24-03/01/24	KSHA-FM	06:00AM-07:00PM	30	-	200			0						
	03/04/24-03/05/24			2000					0			8	15.00	8	120.00
	03/04/24-03/03/24	K3HA-FM	06:00AM-07:00PM	30	10	10				-		20	15.00	20	300.00

Station Totals

Station	On-Air CountDigital Coun	Web Count	Other Count	Gross Billing	Commission	Net Billing
KQMS-AM	28 (0	0	\$700.00	\$105.00	\$595.00
KRDG-FM	28 (0	0	\$280.00	\$42.00	\$238.00
KSHA-FM	28 (0	0	\$420.00	\$63.00	\$357.00
Totals	84 0	0	0	\$1,400.00	\$210,00	\$1,190.00

Total Charges: **Agency Commission:** \$1,400.00

\$210.00

Total Net:

\$1,190.00

DUE UPON RECEIPT

Projected Billing By Calandar Manth

20-11		ming by Calendar Month Month	
<u>Month</u>	Year	Gross Billing	Net Billing
March	2024	\$1,400.00	\$1,190,00
Totals		\$1,400.00	\$1,190.00

Accepted for Stephens Media Group

Accepted for advertiser OR agency as agent for the advertiser

Name

Title

Name



F1X_

MARCH '24

KSHA

SUN	MON	TUES	WED	THURS	FRI	SAT
					1	2
					8,	
3	4	5	6	7	8	9
	10~	10%				
10	11	12	13	14	15	16
	:					
17	18	19	20	21	22	23
24	25	26	27	28	29	30
31		***************************************				
31						

CLIENT:	WIN CARPENTER	LENGTH:	:30
A 1X	INSTRUCTIONS		29
	6 a.m 7 p.m.	FREQUENCY:	20%
B 1X		RATE: _	15.00
C 1X	rotate WIN - 1 - 24 R	TOTAL:	\$ 420
D 1X	WIN - 2 - 24 R	CO-OP;	
E 1X	WIN - 3 - 24 R	50 SQUESTION OF THE PROPERTY O	